Mounting system SMS-212. The segment of the worktable from typical sections for 12 PV modules in the middle of the row

6420
3210 3210
[
L Mb-1
2 At N Bs-! PL2 pL2
[
[an]
3
~_ Dg-1 Dg-1
[
g Mb-1
" -
PL-1 PL1
1 PL-1 - 1
3215 3215
i
Previous type section I_i2
6420
3210 3210 Next 1 ;
N ext type section
Ag-1 Ag-2 Ag-1
Dg-1 N Dg-! Dg-1 M
< Bs-1 <
PL-2
PL-2 L PL-2 = . . . .
s g ) I~ 1. This sheet is considered with the document 2, 3.
=4 2. Dimensions marked with “** are spesified locally upon the completfion of the wark.
Y Y Y Y SN //i/_//ﬁ\//\\//;\t?//ﬁ\//\\:?/\\_:.;/T\:._;/\\f//\\//\\ RO
2 Snow load 1,10 kPa, Wind load 0,36 kPa
B 5
S 3215 3215 2 .
@ Mounting system SMS-212 (144 cell)
E, I Change | Plots | Sheet IN° doc.] Signature | Data
= 2 Stage Sheet Sheets
Mounting system for PV modules p 1
o Mounting system SMS-212.
Zgw Section for 12 PV modules S"L A RSK
=
A3




Insted tag N°

Signature and date

Tag N° orig

l

700*

b
Mb-1

Q©
o
g
o Mb-1
PV =
3 ’///:///
o]~
o —
3
<~ /TN
NSNS g
S
PL-1 o
'
1055

1800

) — S TN\E 7 A 71 Y,
AR

PL-2

Mb-1

Fy

A |

3630

1500*

800

Elements specification of a typical table section for 12 PV modules

ltem Designation Name 0-ty u\:{;i% Notes
PL-1 Pile C100x50x15x2,5 3 S355)R+hdg
PL-2 Pile C100x50x15x2,5 3 S355.R+hdg
Dg-1 Dingonal (110x50x15x2,5 3 $350GD + Zn350
Bs-1 Back support U40x25x2 1 S350GD + Zn350
Mb-1 Main beam C110x50x15x2 A $350GD + Zn350
Ag-1 Angle L75x5 8 hdg
Ag-2 Angle L75x5 4 hdg
DIN 933 Bolt M12x30 40 Delta
DN 934 Nut M12 40 Delta
DN 125 Washer M2 80 Delta
DIN 7980 Spring washer M12 40 Delta
Clamp End clamp 8 alum
Clamp Mid clamp 20 alum
Plate Plate 60x60x3 8 alum
DN 933 Bolt M8x30 28 A2-10
DN 934 Nut M8 28 Delta
DN 125 Washer M8 28 Delta
DIN 7980 Spring washer M8 28 Delta
Tolerance within a table.
1. Arrange racks-piles in accordance with the terrain
2.The difference in the level of the ground surface is +200 mm, at that the difference in the level of the top of the piles
within one guide beam is +20 mm.
3. The inclination of the piles from the vertical axis is +3° in any direction, at that displacement of the top of the piles
from the verfical axis in the longitudinal direction is 20 mm, in the fransverse direction is +20 mm.
4.The distance in the longitudinal direction between neighboring piles is +20 mm, at that the distance between the first and
last piles within one guide beam is +20 mm.
5.PV module angle of inclinafion is 30° +1°
6.Distance from the PV module bottom edge fo the ground surface level is 700100 mm.
Snow load 1,10 kPa, Wind load 0,36 kPa
Mounting system SMS-212 (144 cell)
Change | Plots | Sheet IN° doc.] Signature | Data
Stage Sheet Sheets

Mounting system for PV modules

P 2

Profile 2-2. Specification

StsL ARs«k

A3




14_|

PL-1

PL-2

Bolt M12x30

Insted tag N°

Signature and date

Tag N° orig

(2 washer+s.washer+nut)

level

Bs-1

Ground

N N O

N

1500*

Bolt M12x30

(2 washer+s.washer+nut)

Digitally signed by Habed Gheorghd
Date: 2023.09.

05 09:54:02 EEST

Reason: MoldSign Sigmature
Location: Moldova P

PL-2

Bs-1

Bolt M12x30

(2 washer+s.washer+nut)

Y S

1500*

PV

Bolt M12x30

(2 washer+s.washer-+nut)

Plate

PV

Mb-1

Bolt M12x30

Bolt M12x30

! (2 washer+s.washer+nut)

(2 washer+s.washer-+nut)

Dg-1

Bolt M12x30

(2 washer+s.washer+nut)

~~_ Pl

PL-2

1. This sheet is considered with the document 1, 3.

2. Bolt torque M12 min 44 Nm - max 56 Nm.

3. Bolt torque M8 on clamps min 8 Nm - max 14 Nm.
4. Dimensions marked with “** are spesified locally upon the completion of the work.

PV

Bolt M12x30

(2 washer+s.washer-+nut)

Plate

PV

Mb-1

Bolt M12x30

(2 washer+s.washer+nut)

Balt M12x30

{2 washer+s.washer+nut)

~_ Pl

PL-2

Snow load 1,10 kPa, Wind load 0,36 kPa

(hange

Plots | Sheet

N° doc.

Signature | Data

Mounting system SMS-212 (144 cell)

Mounting system for PV modules

Stage Sheet

Sheets

P 3

Units 1-6

SteL ARsk

A3




	Marceton Grup SRL_SMS-212 (144cell, 30deg)1
	Marceton Grup SRL_SMS-212 (144cell, 30deg)2
	Marceton Grup SRL_SMS-212 (144cell, 30deg)3

		2023-09-05T09:54:02+0300
	Moldova
	MoldSign Signature




